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A conductor with an effective length of 300 mm and a diameter of 9.5 mm carries a

current of 25 A at right angles to a magnetic field. The force on the conductor is 18 N.
Calculate EACH of the following:

(a) the flux density; (4)

(b) the magnetic flux.

Q7 March 2018

(a) State the units of EACH of the following:
(i) flux; (i1) flux density; (iii) magnetomotive force; (iv) inductance. (4)

(b) The active length of a conductor carrying a current of 42A at right angles

to a magnetic field is 800 mm. The force on the conductor is 21 N. Calculate the
strength of the magnetic field.

(4)




GES2 MAGNETIC FLUX Full written solutions Online tutoring and exam Prep www. SVEstudy.com DavidJamesGallimore42@gmail.com

12. A conductor of 12.5 mm diameter has an effective length of 600 mm when carrying a current
of 25 A at right angles to a magnetic field. The force on the conductor is 24 N.
Calculate EACH of the following:

(a) the flux density; (3) e

(b) the magnetic flux. (3)

11. (a) State Lenz’s Law. (2)

(b) A conductor with an effective length of 500 mm creates a magnetic flux
280 yWb when carrying a current of 45 A. The force on the conductor is
40 N.

Calculate the diameter of the conductor. (6)
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10. A conductor with an effective length of 300 mm and a diameter of 9.5 mm when

carrying a current of 25 A at right angles to a magnetic field. The force on the
conductor is 18 N.

Calculate EACH of the following:
(a) the flux density; (4)

(b) the magnetic flux. (4)

12. A conductor of 7.5 mm diameter has an effective length of 400 mm and carries
a current of 20 A. The force on the conductor is 20 N.

Calculate EACH of the following:
(a) the flux density; (4)

(b) the magnetic flux. (4)

Q11 March 2019

An armature coil has 222 turns and rotates between the poles of an electromagnet at
a speed of 10.25 m/s in a uniform magnetic field of flux density 24 mT. The axial
length of the coil is 275 mm. Calculate the maximum e.m.f. generated in the coil. (6)
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A conductor with an effective length of 200 mm and a dismeter of 9.5 mm carries a
current of 25 A at right angles to a maghatic Neld. The Tores on the conduelor is 18 N.

Calculate EACH of the fellewing:
{a} the flux density;
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(&) State the units of EACH of the following: —B —_—
—_—

(i} flux; (i) flux density; (iii) magnetomative force; (iv) inductance. {4)

(b} The active length of a conductor carrying a current of 424 at right angles
to a magnetic field is 800 mm. The force on the conductor is 21 N. Calculate the
strength of the magnetic field. (41
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12. A conductor of 12.5 mm diametar has an affective length of 603 mm when carrying a current
of 25 & at right angles to = magnetic field. The farce on the canductar iz 24 H.
Calculate EACH of the following:

(a) the flux density; (3]

(B} the magnetic flux. (3)
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11, (@) State Lenz's Law.
(b) A conductor with an effective length of S00 mm creates a magnetic flux
B0 Wh when carrying a current of 45 A, The force on the conductor is
A0 H,

Caloulate the dlameter of tha canductar,
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10. A conductor with an effective length of 300 mm and a diameter of 9.5 mm when
carrying a current of 25 A at right angles to a magnetic field. The force on the
conductor is 18 M.

Calculate EACH of the following:

(a} the flux density; (4)

flo) thee magnetic flux. {4) . x.
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A conductor of 7.5 mm diameter has an effective length of 400 mm and carries
a current of 20 A. The force on the conductor is 20 H.

Calculate EACH of the following: % /
{a) the flux density; (4) ( T{)\ t-..)

5] the magnetic M ‘\' 14} D‘\H\‘J
ﬂw+&wlj /

)
oQ T'-:-%T/Lsaaﬂ ?J;,?fg e (

- 20

E)‘;'—.T- Pr{'-t;\ =T
T =20
L=L&00:o'hﬂ :

3\
@:Glo ﬂ-(':,.?fz‘ﬂv) -

_ Ox .Y -
oz »HOrE ?{ _ |l Ouuidy 0 ) (\AS)

1|

-3
235 x [Q

10 - J{ - ’L_s’ T{ﬁ\ﬂ

_-—"/_
20 Y0k




GES2 MAGNETIC FLUX Full written solutions Online tutoring and exam Prep www. SVEstudy.com DavidJamesGallimore42@gmail.com

Q11 March 2019

An armature gailhas 722 turns and rotates between the poles of an electromagnet at
a speed of'n a uniform magnetic field of flux density 24 mT. The axial
length of the coil is 275 mm. Calculate the maximum e.m.f. generated in the coil. (&)
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